y

H

As
as

100. 00m

H=

As

n
l

Bor-NO. {———————
GH=100. 35 o

Bor-NO. 3
GH=100. 42

Bor-NO. 2
GH=100. 31

[ i#fE

As

As

5=1:500
MERRRTHE R 5%

HHIFE 9A 298 # A

&
il

fERE

20 30 40 50 (m)

10

Lo oo bbb |

ER M

S




R—1) VTR

B ) £ BRMEEF 1S B TR 2 —FHicffE > g
R—1) > 45 No
Fg- TEL o
v 0
"= v5% BNO. HREME W WK R T M R it #®35° 187 39.

F X B E A G U i B T e el FEHME S 3F ~ 3% 10A 5H|K #¥®136° 177 21.

- I =] S_ 1] ~ =
HEEXES ER=353:01 1% 1 if g &Jg‘

- = 7 |180° vl & 0° #h = NI —

L. O &g B - e e o o

=B 100. 35m SN 070° o0’ ’/?’.% g KT O =T A o E) TR

@ # 50. 09 ¥ 7 R W E T s Y - )
wiEE R A M s 5 B | o WAV ¥ o~ —NFAD10-K 7 B V-6

3 3 = fL i, e el 4o .
S B B S I = O I ol I =) E A oA E R B EUB B =
7K - T we | B K e | =t | by E\j
g | |z | R0 g w|ROBR B R R
rle el el w ! | |7 % ] 1 B SSI O S B | =
|| R m B B ~
/
< . AU i i A
o L | H
E SREREFN
3 N H B §

(m) | (m) | (m) | (m) 5 | TR B B =+ H 10120130 (i) o (m) (m) | & |1& H
-1 _.'.;, . plefefo| — 4 L L L1 E
= . . + 30 E
= 2 . %ﬁe: I als3le| 13| — N L L L E
s e R X @%?%li & =2~30mm -4, % E
3 L { PRI, D & CHUKHIHI L 7= 2541 E
% 3 . ) 8 KBRS Hiigo7z (10/1) 457 9 7777777777 é
- ol ow 30 /3 E
E 4 = s|2ls|w0| A1/ E
2 - 30 ]
- 95.55  4.80  4.80 . . E
-0 W] e | - - B I I 2 N E
; oi6d 09 i i — =] T 1 TR TRAT L, —SkE Ak, 3l 1o 35 é
- 6 S Ll | g | E
8 1212 11| 35 E
- \‘/ E
= - IREH 7L b, ]
-7 ik D gt s, B I - I e s e N -
= 8] gp05 260 830-——— e N o U S e e =
= .. 30 E
S LTS M HRD~ DR, 6|77 2| I NI E
- IR N7 TR o =2~BmmOKEE 2T e, % } E
g 90.55 150  9.80s° ¢*o° :
- 10 R SRR I E T [ S i R N S S R E
g “ | e | B P . % :
E AT R | g AR L, — TR 30 —_ E
F 023 120 110 &'oi‘?é; e | > L L L E
= 07070 30 ]
F 02020 F
s 6%25%8 o | e 1720|260 | L 1 0 >~ E
3 00 | o FEBEIE ¢ =2~20mm (A, 5% ]
g 50808 X I, E
= 13 59428 51615546 | | L =
- 00O~ —~ ]
s 86.75  2.60 13.6005°50 30 E
- 1 - elefofo| T | L | E
8 —— 30 E
E 15 el VRIEB 72000 B, alals|3] — NV b 1(?
- i R 03 . “g%“;l;fl& 16m~15. 45mA & & e (N=1 30 >> 1
g - b . 1]
- 16 - 9lolole | A4 L E
- - %0 ]
B 17 83.45  3.30 16.90— __ _ P P ’
- Ceetel ML D~ AR A T &, < T T E
- w51 000 1780+ WK THELE & =2mmiliis DEEE B0, : E
18 0% w | \ R T T T T TS | E
3 0920w | m BRI ¢ =2~20mm =14, E
= 0-0- =
S 8145 1.10 18.900 070 Aalwlwl L L L T ]
g Celena ML P~ MUY LT, MU A, % E
E | sosd ood ade e P | K B o =2mlT P DREE S TS, -
; 20 Zmi . 122|585 | — 1 =T L L | =
3 I L LA e LR AL 20 ;
: 7959 1.00 20.80" - E
E 21 7009 050 2130270 é@ﬁh 1BIX | b~ LA, sy o 1 1 | =
g | N g\ .
2 IR ikl I A L bR A % IFS % P71 I N NS N A A ER e S E
- - - 00 C 7 < 30 ]
B 2090 e | gl BT ¢ =2~20mm (A, E
B 03 77459 0.60 22.9 92999 il Akl S, i ;
- 7715 0.30 23.200 7. LUK | M~ ot 56|78 | — 1 N1 0 b E
3 S T | IR VEEH 70D, % ]
-2 RECRE RS TR D, R I e | I e S R I .
3 69 L0 §
25 T gy sjalaju| —mAtAfprb—F+ 4 e =
- == *;’% m 30 E
- -——= ' TERRERE D A L — AL AL ]
- 26 o W 1 sls a0 — 4 E
E TN L 30 E




HH‘HH‘HH‘HH‘\\H‘\H\‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘\\H‘\\H‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘\\H‘\\H‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘\\H‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘\H\‘HH‘HH‘HH‘HH‘H\‘

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

DL i Ay o) W 115 L | 8

o =
e
- +
73.559 2.10 26.80 -~ —
A BEL W 2Tk 1,
7079 080 2760~ | O HE v b e,
050,9
02059
O-0-0 P
59595 A
SO0 0O~ 7
25959 2
0209 W | W | BRI o =2~20mm A,
0059 | K | % SEEITRD,
o
25958 i
25959 72
05269
O-0-0
68.75 4.00 31.60-©-0O-
LU EERU| W e, \
et O R | A PRI  =2mmAii % OB TR A,
67.65 1.100 32.70 -.e*
695 070 3340-——— k| R HANEEB 723V b,
T e |
T | T s p s e,
66.05  0.90 34.30'"—— ]
oo v A .
E— % B HTH 72 L B,
i v | R R e,
64.75 1.3 35.60 - —— —
. ./.z/ h
S k| e | < VRIS 7R,
S| e 5 TV R E—RRCET,
63.55  1.20 36.80° " ° v
w | |T< HIO~ARRS TR,
L ” I P ¢ =2mmiiiiR OREE Ee,
62.55 1.00 37.8 I _
- (g % N h
6215 040 380 irT 7| AR e | | ekt i A,
N L b~ b LK,
S0 B & =2mmA{iiR DB E Ede,
60.75 1.4 39.60,.° .*.°
—a
s e | R B 1FE A SR,
it )ﬂg (] v | BRI AT,
59.19  1.60 4120~ ——ml T
045049
0% w | |
o oo W L 47 —9~ ;
2050l @ | % | A BRI ¢ =2~20mm 1A,
SO0 0O~
57.55  1.60 42.809:9.9
7 R
¥ 2] Fr— I\H‘Eﬁ%
| 0 JR b, BEE T Y KTk,
K &
54.55  3.000 45.8
Fr—| K Fx— hEE,
y ] JRAVA, R U Y IR,
53.45 1.1 46.9
%
v | A Fr— M EK
| i) JEf b, WOREIR,
k
50.26  3.19 50.09

a1

N\

15 3|3 410
30

2.5
a5 2|3 3] 8
30

2.5
p15| 14| 18 | 23| 55
30

2.5
25| 17| 20| 23} 60
9 | 29

2.4
s015| 15| 17119} 51
30

30.45
si15| 14| 16 | 15| 45
30

3145
3.15| 15| 16 | 17| 48
30

2.5
315 2| 35| 10
30

3.5
ais| 3| 3 4] 10
30

3.5
a5 2| 33| 8
30

.5
15| 0 | 5| T | 17
30

36.45
sras| 7|5 9] 2L
30

3745
s15| 10| 12 | 14| 36
30

B
s0.05| 14| 14| 10| 38
30

3.5
aus| 4| 4] 5 13
30

1045
15| 5| 810 23
30

45
4215 8 | 1012} 30
30

12,45
aas] 4| 45|13
30

345
mis| 4| 6] 6 16
30

n.15
4515 5 | 619 20
30

15,45
6| 7]9] 2
46.15 22
30
6.5 g0 60
47.05 T

15
60 60
P —~
805 5 5

3810
60 60
—~ —~
49.05]| ¢ 6

1911
60 60
—~ —~
50.05| 4 4

50.09

M\\ﬁmmm\uumu\mmm\m,

g\ﬁ

\mmm\uumu\uumu\Humu\uumu\m‘\

o\3
Lo




' %

%:’I‘I

SFIEE R

vy HARER TR 2 — RO AR O B R A2

R—1) VTR

it

FE-IE4

R—1) >4 No

< — kNo
R—1) T8 BNO. 2 HELME Te BB OK R TR o R it #|35° 187 39.07
* X B B B R ORI LR 2 — REHMB S 3F 10 6H ~ 34 10A 7H|®E #¥136° 177 24.87
— ] 5 - 7 w=-y >y
REXS A EE A K m A % & & A
R H= /7 |180° vl £ 0 #h L - 3 NI — " i
?L A *a: =l 100. 31m F 90° 9270° 90° ﬁ & IKFEQ° FH nit ﬁ *ﬁ% 7 / KR 100H %Tﬁﬁﬁ :|: ﬁ @J S T
“l?\ . T Pii) R /-Lg IE *ﬁ% T oS s N - _ RN _
@ i & K| 2103 B e o B e B | o s Lrov ¥ o~ —NFAD10-K Ry 7 7 V-6
E O B | | & | & FE e Al % O NN oA B R B ORI =R
- W
?j VE |10 = & D i;,; ve | OB A g e
o | . S ¢ 1
= R xf (;L) 7 m % @] N i SSHON g |
R || g | 4 # — K | ~
|| 0 ]10]20
X |1 | é: B i3 2| =
T SREAREDN
- A & ;
o AN = | ==N = ~
(m) | (m) | (m) | (m) Gy | R | B =3 H | (m)10]20]30 em o o 0 0 o 0w (m) (m) | & |1 H
; O E
= S s (1| 2| | E
F T~ w 13| 22 35 T E
g . s % | 1.50
;7 2 . NS }2}—\ ik %ﬂg@’”*ﬂf@ﬂéﬁio . | 2.15 | } } ; 7777777777 -
- O IR R BRI ¢ =2~50mm 1A, |5 % A\ E
; 3 - V)\ ZS 10/6 ‘ 3112 7 S e S e -
E . b 3.40 219 Z \
- R Avd 30
E U = 345 E
E 4] o611 420 a2d - las| 732 2] — Nt |- =
- ek 1 B E R, = ]
E T =D V| K| B o~ omosziA, ol A E
- 95.01  0.60 530°"""| ot | g B gk, — @ 1
- e i ‘ 5.45 ] E
3 9451 050 58 S [ RIR R I3E e,
S e 615 L 1|13 | —H—FT—F+—F—F—+—— |- =
8 5 | & 1212|111 35 E
g v 8 ?_;L ;K; I EAE, 6.50
= A= sl 3 alal ] Ny | L 4
-7 | B L 0 i~ R, L ® ;
- o 745 \ E
g 9251 2.00 7.8 :
- 8 g5/ 8|9 9|26 | —— >+ L L L =
= % \S\
3 8.45 \ E
E 9 loas | 171920 86 | | P L =
10 hoss| 16121340 | ——f— 4+ L | oo =
- 30
2 10.45 ]
; 11 l1115] 16| 21| 17 g ,,,,,,,,,, =
% 11.45 = ] E
- 12 F | R . lous| 77|70 b b — A — | b =
g v ) %}’E]‘% [NEEE % E
g ! B U $ TR, -
- 13 K 8 gas| 7TV Y| ———/p | - —
o 30 $\
2 13.45 .
= 14 hass| 11121235 | b — S | oo =
g 30 7 ]
- 14.45 E
- 15 lsas| 711230 | b 10
o 30 6 7]
; 15.45 / 7;
= 16 65| 78924 bD— 44—+ /4 L b =
g % L E
- 16.45 I :
3 5(3/15)6 | || | T~ 1 | L =
E 17| 83.16 9.35 17.1 [7.15 | 7| 5 T ]
= S 60 E
= = = E
- 18 88 1 11 = |- =
= 18.16 ]
7l w2 | w
- 19 T T — bEM ﬁ 8 18 = | [ E
R hE %
- 20 12005) 4 4 = | -
- 20.09 ]
3 60 60 107
; 21 79.28 3.8 21.0: w 3 S I O ] A L e 7
= 21.03




R—1) VTR

B T £ BMEEE 1S AL TRt v & — Bk > EHAE LG i X
R—1) > JNo
FEX-IF4 o — kNo
R—1y o4 BNO. 3 REME T8 B OKE T M o R it #35° 18 39.5”
F X # E G U o B 5 T el FEHME S 34 100 8H ~ 34 108 10H B #¥®136° 177 23.27
5 w 15 =] 7 wm-yy
=§ .
REXE A EERE K o® A ® & &
= | @ [0 A RE: B ey NUT— I
5 = o =4 KR-100H i~ 7
?L I:I *—r =] 100. 42m J: 90° 270° 90° ﬂﬁ ﬁ/u\ 7J(‘ 70° FH nit ﬁ *ﬁ% jj / 5§—Fﬁﬁ§ :|: g @J {%’ T
. L o .
Wi # | 3204 & OT " ﬁﬂwwo"ﬁ'ﬁ% é% '91'50‘0 o % ooy ¥~ —NFAD10-K R 7 5/ V-6
i
N 3 = }L 3 =P L. = =] 45
(I S = B S < O B S A ! H A - NN AL &R BR (RO R B = 4
: = N
B || || v B A e e s
’ AR | e ] N B LU R B | E
R e || | R y 1 — B | ~
X % | 78 “ g | 0110120 é s 53 . A
e =
A AP PR N *
5 A 5 ;
m) | (m) | (m) | (m Ay | 3| B g |~ | A
W@ | W W : il el ¥ H (m)|10/20/30 (em)| o 10 20 30 40 50 60 (m) (m) | 5| 5
g ol om ;
S e sl 4l2)s8}o | bD—nuo-+—+ L L | e =
- 0 + el ]
= 5. 30 E
2 ot ~ [ 1.45 f E
= S R I P 1, WO, TR L D #b, oslslef1]e | /L L L L L E
= 2 ow | X R e, A % ;
- o %% TP ¢ =20~80mmDIE AR, 5 : -
- 3 ,:J, l315] 1| L 2| T T |- =
- o 2 18 | 17 3 T E
= . o® 3.50 ]
- 4 = 511 7 S [ =
E 96.02 440 4.4 ' - - 2|12 % ]
- 95.62 0.0 4.8 iii‘i SRR %E{{ FIEE—723 v 1, 150 E
- 5 — T o | . ;5| L1138 | H—FT——F+—T T | o~ e
S O B B e e I A T il = é\ EE
g . . B {t ety . 5.50 ]
6 0i1d 060 63 B | K |DS e, leas| 4| 5|6 ;/Z \@\ ********** E
5 93729 040 670.°.".7 W | K Ef\ HRS~HIHD, 645 ‘ E
-7 T o] 9 |18l | — S =
- . i 30 ]
5 | I T 7 .
= ot - N T ™ " o :
- 8 ol e [EREe=2~2omek, T O O E
- W 30 / ]
2 SR 8.45 E
[ gl 9147 230 9.00". 'ﬂ-": - ol 11138 | b—m P —V | E
: ST R | e | g AR, bR ] 5 ]
- 9072 070 grqift_— | Mt ™ 1% ¥ ‘ E
10 0019 06g 103d-———| ¥ K e hots| 4| 7|7 ;/i —————————— .
3 et H 10.45 ] ]
F 11 ORI I S I R R I 7EE S s 4| 5688 bt S E
- o o o w o 30 Cg\ 1
3 88.62 1.50 11.80s" «" " v 1145 ~_ g
- 12 | B lggs| 16| 17|15 47 | P L -
g e Bl | w | o, v = 7 £
g e K| 7 FERIT 0 =2~30mmI=AE, i :
— 13 o lass| 13|14 988 | ot -
2 86.92 1.70 13.50 - w - 30 //J E
- [ ete (/) . N - ]
= i B0 7 N aNEES—Rv s, b e s ) — -t | _____ =
E 1) 510 080 143 e LS L AT b Lﬁl/lz i % % E
2 :jﬁﬂ“ o 14.50 < E
E 15 e e | R P KA, — SRS T sl 4|4 a2 | — N L L =
o W Rkt 8 F;|r 17, [15.15 | % :
- - A ]
3 84.62  1.50 15.80—— — ] 15.45 ]
- - " - . 5212610 b—Hy—+ L L L | o 4
- 16 W BEERC| WG] MR, — % ]
- el Lod 1esd et VP R PV | 92~ 10mElk, — - / :
E 17 e ——— | 12|28 | —fp—— 1 | " =
- 3 3 30 1
2 ; ;g i &ilfi’ﬂ—i.s“//lx k. 17.45 & E
; 18 8 % i %ﬁ#@%ﬁ@o |18.15] 7 7 5 9 7777777777 é
s . N 30 E
3 81.82  1.80 18.6 E— T :
- 19 74@% w15 222|686 Mm>r——7F—""TFT""FT""""F""— | - -
g Wit 1 I DR, — R o % E
3 i L= i | 155 19.45 \\ E
= , - — N — | ]
= 80.32 1500 20.10—_ _ sla0|5(5 60 | — L L TV L =
- 20 80.07  0.30 20400950, WoBE |WEK|#7e| | BEPAIT ¢ =2~30mmElk, > 50 — :
= [ 20.45 ‘ | — E
E cooC [— E
- 21 — l211s| 2| 2 | 2 % 1 | - .
? v s i 21.45 ] T/ f
- H - ~ ]
— 22 — ’: K fir | TRV 25| 2| 2|2 6| —mp T | " =
E == 30 1
= I 22.45 A\ E
— 23 —— slelslale | b N+ 1L E
E 77.09 300 2340- - 242, w0 & %(T
3 7667 040 2380~ — g% L o 1 HEH TR b, 245 —
- 24 | b K fir |BERRIE ¢ =5~ 10mmI={A, ags| 4|45 | B — A\—pF— | o =
- 30 ]
2 21.45 -
= s | Aeels3lalr|lal -0 ]
F 2 T Fo— b, S I I ;
- i 1 L. 25.45 % E
g ‘ AR U0 LR, ' E
A D %5 9|6 T8 —r A | - =
E 79700 oan  9a 70 or A= B0 gg g\ E|




HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘HH‘H\‘

26

27

28

29

30

31

32

B C 0Ok,

K (]
73.79  2.90 26.70
7 R
¥ (] F v — MEE,
| ! Bk,
K (]
68.38  5.34] 32.04

. 5 18

26.15 22

30

26.45 60 60

=~ =

27.00 3 3
27.03

60 60

— =~

28.00| 2 2
28.02

60 60

~ ~

29.00| 4 4
29.04

60 60

— —

30.00] 2 2
30.02

60 60

— =

31.00] 5 5
31.05

60 60

— =

32.00] 4 4
32.04

fe)
b b b b b b

—

e




